Day-4 — Session-I — Set-G — Maths & Science — Hindi Medium
Psychology - Paper - 2 - SET - 1 (Hindi Medium)
The appropriate method to study the behaviour of animals and
mental patients.
1. Introspection method
2 Experimental method
3. Longitudinal method
4

Observation method

SITeTaR] 31R ARG APR] & TagR & 31T & foIu
3ug fafer -
1. 3fcAferRieor fafér

2. u=OnHS fafd
3.  3igeed fafy
4.  Terdtemor fafdr

The Scientist who stated that the children are born with innate
language abilities.

1. Skinner
2 Chomsky
3. Bandura
4

Watson

“FE BT ST - SleHSId HINT Hdeh 3iafeliga afhan A
gidr 3’ - Pgadret dsiield § -

1. R
2. dATHDI
3. 4

4, A

~



Not attending to the interview assuming that | will not get the job
because thousands of people are attending to the interview for only
very few jobs, defense mechanism adopted here is

1. Withdrawal

2 Regression

3. Reversing motive

4 Sublimation

“Tgd HA SAlBRAI B 6TT FOIRI ASAT A ARMHR & feIw
gioR g1 33 o | A I fHACHN?” AHAZH ARIHR &
foTu BIfSIR & BleT A UBR BT I2IUTHSD a3 -

1.  UBR
2.  HferEHEe

3. & H 3cTud
4.  3STAIBROT

One student is able to draw pictures efficiently without any training
because of his.

1. Attitude

2. Aptitude

3. Interest

4, Experience

Tl SR & 1101 & faer Us o1 aga 31 o1 A
i @t Sfiaar & | sHdT BrRur 37 foemeff @ -

1. sifdgfa
2. 3ifdemEan
3. &

4.  3FHT



According to Gardner the intelligence possessed by the sports men

IS.

1 Bodily kinaesthetic intelligence
2 Interpersonal intelligence

3. Naturalistic intelligence

4 Visual spacial intelligence

MR &F IR Raenfean & gidaren gig 3 -
1. RIR® Weras ghe

2. 3addfhd ghg

3. upla dAdfa ghg

4. T YRR gig

The painful emotional state created in a person as a result of

contrasting desires.

1. Conflict

2. Stress

3. Frustration

4, Maladjustment

RIR f5g o131t & BRI ATld A 3cUsl ceellh
Safora Rerfa 3 -

1 Jad
2 GGIG)
3 pod



According to Erickson High School children face this psycho social
critical situation.

1. Industry vs Inferiority

2 Initiative vs Guilt

3. Role Identity vs Role Identity confusion
4

Intimacy vs Isolation

CR&TE & AR R & qenef g3 bR #i
FHelldsTiel 3R ATAISIS FHepe-RIfd BT AT Hd 3 -

1. 3T (UiRsd) vs el

2.  JUBHUT vs URTE

3. AP UgdIE vs HHADBT H IcTgrel
4.  3TEHNEr vs fadmerar

According to Thorndike this part of the brain influences mechanical
intelligence by controlling motor skills of a person.

1. Diencephalon
2 Fore Brain
3. Hind Brain
4 Mid Brain

ATHSTSH &b ITAR ARh & IR DIerel ol feriba
HId gU JiIb gieg P TATAd Beldiel ARTE BT HPG -

1.  gRomefA

2. 311 ARTsp
3. U ARASh
4. AT ARASh



9.

10.

In the stages of Human development this stage is called as
‘Adjustment stage'

Adulthood
Middle age
Adolescence
Childhood

It b IBrRA-TM3N A “THRNGIST S’ HITAdTel SARIg

A wnpoE

3 -

1. o=

2. HEAITRA
3.  fwonRme=en
4. QTcATEaRRA

The child is habituated to drink milk through feeding bottle. When
offered milk in a tumbler instead of feeding bottle, first he tries his
old way of drinking i.e., sucking, afterwards he picks up the new
way of drinking. This cognitive process is called.

1. Accommodation
2 Assimilation

3. Organization
4

Equilibrium

qU &I gg-diael A dia B 31ed gledred ag i Premd A
G Qo WR UgHl g Bl YRIE [afdr H Hifner w3k b
& HU A B A N &) =0 [Aafer & Fzren 53 ueR
P HseATcHD UihaAT 3 -

1. AARNSE

2.  S3cHATT Bl
3.  CIaRIUE

4 FHAdeTe



11.

12.

Ramesh has to cross the river and go to neighbouring village to write
exams. One day he is unable to attend the exam due to floods. The
obstacle faced by Ramesh is.

1. Social Environment obstacle

2 Physical obstacle

3. Physical Environment obstacle
4 Mental obstacle

IR Bl wRieT foma & v a8t & UR B 2182 e
2 | U fea € H are 31T | 3H PRI ag u3lel {15 =igl
ABT | TET TAA F 0 U= 3rasie -

1. ArAifSTe uRkaer Fdeh 3reRie
2. QRIR® uRaer Adeh 3@zt

3.  #ifde uiRder Jden 3Rl

4.  HERAP URAQT Fdeh e

The play in which children do not share their play things but
Imitating with each other they continue their plays.

1. Solitary play

2 Parallel play

3. Social play

4 Symbolic play

T Rl Bl TP IR Bl 3d gU 3TR UH A Bl
3[BT PH3d U Heleldiell JHd -

1. TP dist

2.  JAHGR BHiET

3.  ATHINSD HisT

4.  UdKBIHSD HIST



13.

14.

Sumanth learnt to play cricket, now he wants to learn computer. The
type of transfer of learning in this context is

1.

2
3.
4

Positive transfer
Negative transfer
Zero transfer

Bilateral transfer

JHd Thbe Jietell A o721 | 319 g FHeYe AlBel aArgal
3 | 39 T A A TBR &1 3ifEeTHE TR gar 3 -

1.

2.

3.

4.

37elpel TATATART
Afdper FRATATaRoT
S FRATATROT

fgursd ZRreriazon

Ganesh learnt a list of 25 meaningless words in 20 attempts. After
one month, when he was asked to relearn the same list, he took 14
attempts to learn. Saving score of Ganesh is

oroter 25 forRefes ol @bt It B 20 S H i ferem |
TP AGle & ag 3 JA Bt W A & v wgat w= a5
A IR 14 Wl A F AR for=m | omoter &) gad @t oTuTe

3 -

1
2
3.
4

30%
40%
60%
70%



15.

16.

Sumalatha doesn’t know Sanskrit, but she can recite Sanskrit slokas
in Bhagavatgeetha without any mistake. The memory of Sumalatha
IS

1 Passive Memory

2 Rote Memory

3. Logical Memory

4 Sensory Memor

JAAT Pl HIPpd ST Bl 3716l g1 gl TR Ig HOTAPNT &
AP eAIDI Bl el I 3 9N Abdl g | FHAAT B
2;;1-% -

1. falea =
2.  eed WA

3. difches T
4. EigT-3rea

Direct, Indirect, alternative and self reinforcement were proposed by

1 Bandura

2 Skinner

3. Pavlov

4 Vygotsky

Teg21, U3, ddbicud 3R 31cH Tacielid iU -
1. 495

2. Rwear

3.  UEet



17.

18.

Author of the book “Animal Intelligence : Experimental Studies”

1
2
3.
4

Thurstone
Skinner
Thorndike
Kohler

‘“gfereret $efeToied | TrTURACH e &S U B

BIgeR

In Pavlov experiment, the dog salivated only for the sound of the
bell for which it was conditioned, but not salivating to other sounds.
This is because of

1.

2
3.
4

Stimulus generalization
Stimulus discrimination
Extinction

Higher order conditioning

UTaelt & SRI0T # Fdl 30 A Adg gl dI 3Taret Fed gl
&R Udhdl § U gk ol A 3Td Hg A @R TG
TUBdl | SHABT PHIROT -

1.

2.

3.

IEIUB BT ATHATRNBUT
3GIUP BT 3idT AFS

faq@ar / e

3ad A 3EA



The first person who used teaching machines is

1. Pavlov

2. Thorndike

3. Pressey

4. Freud

3TEATIA-TSN BT UGAIIR SUHIIT BIAdTeT -
1. Odet

2.  ATeASTSSH

3. U=t

4. WIS

Scaffolding means

1 Offering support
2 Prediction

3. Near

4 Making parts
THBICEI BT AT
1. AGAWI =

2. TSI Hee

3. arA

4. AN BT TS



21.

22.

One of the following is related to psychomotor domain

1 Imitation

2 Analysis

3. Responding

4 Valuing

HATEIRAG TcTellcHD 5T A Hdlda 3 -
1. 3®HI0

2.  faeciyur

3.  Hidieen fezamer

4.  FHcI eoTE

The most appropriate meaning of learning is

1 Acquisition of skill

2 Modification of behaviour

3. Personal adjustment

4 Gathering information

‘e’ &F fev 3rcia 3uge 3ef § -
1. DA BT 3sfa

2. AR A uRade

3.  ihold AATIIGIE

4. fow= &1 T«



In the process of teaching to mentally-retarded awarding points,

money etc. is regarded as this type of reinforcement.

1 Social

2 Secondary
3. Primary
4

Natural

‘gfeg AT’ e & sieue A A fig, WA 3nfe qem s
YhTR T Jdele g -

1. AmASE
2. 3o

3.  UIAHAG
4.  Hgol

During Enquiry based learning, the student

1. Gives importance to product rather than process
2 Depends on teacher to get knowledge

3. Uses inquiry for learning
4

Depends on bookish knowledge

Ry = snenRa Hwa 3t ear A Rremeff -
1. ufear A, BT Bl WA adT 3 |

2. el & foIU 3reamues uR 3menf¥a gar g |
3. S A Sl B TEreddr ad1 g |

4.  YIAD-slel UR 3MenRd glar g |



25.

With regard to opinions of Piaget and Bruner on teaching process the
correct statement is

1. Piaget opines that there is no relation between teaching and
maturity of the child

2. Bruner opines maturity of the child is most important for
teaching.

3. Bruner opines that there is no relation between teaching and

maturity of the child.

4, There is no difference of opinion between Piaget and Bruner
with regard to teaching and maturity of the child.

eI Aisha A Hafa et 3tk R & ARl &

A vaTe -

1. s & sragen B 76 31eamuet &1, aEi @Y
uRussar A JAder G B |

2. geR B HIgen Ig g % sremmua & fow awt @
ulRussar & wener 8 |

3. QERR Bl HIGe Ig 3 b 31U BT I Bl
uRussar A JAder =gl 8 |

4. 31U 3R TEl B uRUHal W - U=met 3Tk e
P HTA A BIp <TG 8 |



26.

27.

According to Bartlet, the leaders who posses special competency in a

particular area and can show impact on a group though they have no

relationship with the members of the group are called as

1
2
3.
4

Experts
Institutional leaders
Dominant leaders

Persuasive leaders

‘Ieeie’ & AR AHg AT A AGY o gl U= 3 TP
Rroer A v@® A wwe, Jeg R uae KEmaara

Aq13N &I I YBR HBad B -
1. fego

2. TRPE aAdr

3.  UHTEATEN Sdn

4.  UI® Adl

Right to expression belongs to this category of child rights

1
2
3.
4

Right to participate
Right to Survive
Protection Rights
Right to develop

‘oTel Bl FTH B B PR’ I BRI A TrH

9f A Adferd 3 -

1. PN I BFER g9 BT 3fER
2. Sile & 3MEBR

3. PIam Bl MUBR

4. 39T BT RBR



28.

29.

As per CCE the teacher responsible to teach Art and culture
education is

1.

2
3.
4

Language Teacher
Mathematics Teacher
Physical Education Teacher

Science Teacher

WM .E. F AR Herm 3R ARBpiaw Rrem H1 3reT TA
31¢ATUPH I Bl § -

1.

2
3.
4

HTYT &b 31EATYH
oifdTa & 3TeATUH
SR & 31EATID
st oo & 31eATUE

The following is not the concept of NCF-2005 with regard to
Languages

1.

4.

English should have a place on par with other Indian
languages

Home language is not required

Preparation of subject wise dictionaries lessens the burden of
the students.

Language is a source for enriching the social life.

ST &b Tdel H I UTSeT TA1-2005 Pt HIAT TG =gl

3 -

1.

335N BT 3T ARG AT b HAFT T=AT
et =anfge |

TR Pl HTT 3D I8l & |

fao=n 3 HAdiféra pren @1 ferdAfor et R =l U=
9T B T |

ATATSTPD Siidel Bl T Jelied A HTOT Tk Hd 3 |



30.

The right of Education is

1 related to Access only

2 related to Enrollment and Access only

3. related to Access, Enrollment, Quality and Equity
4

related to Access, Enrollment and Quality only.

faen 3R -

1. ‘uge’ A g ddfa

2. ik 3R Ugd A & Adferd

3.  Ugd, s(Hichel, IOl 3T AHTA A Adfra
4. UZh, SAeibe 3T 0T A & FalRrd



Hindi Paper-1l SET - |

oidarer ufew| 31 3TR 32 wesi & Ia= ugareC|

Rigraer fgar 3¢, Irorden & et arelt &l
Je HRd A oft 3, MR A a1 Srareh o
et g3 3O P BAT Ade ugaTe! 2t
2 ott Bt Bt B Adel Hel A orelt 2|
THB 3o Ael TGS H dg dadR gRred 2t

Y

31.

32.

T Biadiel & FadsIdT 3fiaiets & [Bd gear & arR &
AT 27?2

1.

2.

3.

4.

1857 &b HIATH I
1920 & TAGAWT 3Micietel Bl
1919 & Raeimea 3iigierer &1
1925 & BB Shall Bl

AG AT [BAB AGA Bl UgaTel?

1.
2.
3.

deldR & HAGT Bl
ftpolt & Aga @
3MSTISt & HAged Bl
Rigraer & #iga ol



eI YR 33 3T 34 Hesl & IR uglere |

IMAJET JeAIgR] ITeT Alfged & ATA 31ferd gaHm@a= 37
A RE A A | A o9 I & fw foraa A ot 3e1b offaR
ATEl BT Ueh SIReT dg 3odT T | 3JTehl AUe 2 b AR 290 &
g9 4R, AgA!, Abcuar 3R I gR=Ee 3ncef a=rs
ad | ‘37Hd & aul’ dNGRASht B agatda wgel 3, GRS
gRder ®l wglelt giat U= Y deliglelt o gael aglerdr 31
HTagul oren A 3R foren 3 16 A Jpwe ugen usar § |

Rt
33.  ‘31Fd qul’ - HA Bgrel § ?
1. ®Icafe®d SO A ST

2. oEIgd A el
3. CHDHAT3 A ST

4. QRION A ST

34. QYR Sit B AU AF B -
1. € =G do

2. 99 3Mee A= a4
3. T " PRR Id
4. 9 3B RaaE a4d



35.

36.

37.

ECTTg Hglelt A & 1HAT Bl ok A gifHT HAT
ISdhT 87

1.
2.
3.
4.

3g3ER 3R 3ifedent
JASER 3R Zareif
AT 3R PN

gl 3R FAHER

ot <=t ad) o1 B - gt A fhw wpR &1 AderA 3?2

1.
2.
3.
4.

U&Y arad AdelTH
sifereaearas Adara
Taerarad AderA
fercrara®s Fdeama

‘T MR FAIARI| S dTeT BT BHATE T»U UgIeIC|

1.

2.

w

i & gaRI 2MT AR SR |
Il & gaRT N AGRN S=of |
a= 2R FAT IZat|

Tl & aRT AR FAAR IR



38.

39.

40.

HIAT dTciep Bl HAT Racardl 3 - 3AHA A UbR
B ABHD feha BT SR=I0T 3T 3 2

1.
2.
3.
4.

UF BB e
Seomefes femam
o1 dlerd fopat
Tewaia fomam

od db JAA of A BIA Bl G gl [bAT, dd db
3THTLT UTATE TP B2 [T - araT H 9gh Hgad Bl
3ref = B2

1.
2.
3.
4.

JEd oz A SJ
3MuA A et
SIET Ageld Bl

CAEGTL |

31=art, Feflar fafereea 3Tk SN Igsd SN, At

®1T & I UG HATGAR g ANgIeTd aensii & iaoid
34 3 -

1.
2.
3.

Hiaar, ARMHR, JAdG



TRA’ - o @1 Al Fredeeiuria uRafda wu g
ghom -

1. Fr+=
2. @ +3:A
3. Fm+==
4, &+ |

Il TR A Ul PN - TG A UBIR BT a1 § -
1. oorRle aa
2. fenemefs ar
3. dbarfes a
4, Zegrfe a

3TN 3T Bl A Siiael Bl I - JFifhd
ATHATRIP 91 BT YBR IS 3 -

1. ®HIRT AAA
2. 3TERNATT JATH
3. dgdiis JA=A

4. 3] A=A



44,

45.

46.

‘Ui’ 2ot & Faramref foreer qoif A J S|

1.
2.
3.
4.

3R aman, gu it Ig, 3R § IS A Feiche, ST d )t IHT
N af g aft 3MHI WR G ST A1 - T AT AYGH

G, Ufdee1, IH®b
O, S, oNaHT
oI, &4, IUT

olc1, Hlgd, Aaga

HgaR P Ag 31f B -

1.
2.
3.
4.

qaR Tgell

et a¥g & ufd 3che g@1

aga sifiear A faAeren

S dIRAT 3R ATGHA BT B Bl

BR & 310! Siid 3’ SRUNER™IS U6 3l 37 U6 A
fpads IR A gamr = 32

1.
2.
3.

Taea sqifsTe STk
e sreifern Seew
Taee BrRRlE Sk
frean PR Feew



47.

48.

49,

SS1-331 gar IcAdl 3, BT I &b IRl oI feree
Wit A A vifed|

1. #ASA, FoN®B, A0

2. JHR, dieag, ard

3. dg, 91, Hedld

4. dfsd, Side, udd

HRd & 31ST Ps [Gluur &1 9= B - are & 3FAifpd
9lg S YBIR Bl AT § -

1. afaars s
2. GeIdrEsd A

3. HAHG grEad A
4. oTidarEs Js

DT Sl Bl A T UR fofeer IvprR a ufdaer
SIoT=IT &7?

1. JArclads

2. UGURHALR

3. ®Wbhe

4. RS & Raest



50.

ol

52.

M Sifd & AT ;AR ----- U3 - Jell YoTSt Ugeld

31 Raa v & gid fpar shua fasifda fawea 3 gl -
1.
2.
3.
4,

Hdel BR®B, BdlbRDp
Tdel BB, BV HRDB
Hdel PBRep, MBI BRB
Hdel BRPB, BlpRD

fereet o/l A A QoS oI ugATleIU|

1.
2.
3.
4.

&d
PBIH
B -

AEDBIR

o1 zeme wR feftast 3fea ®t a1 5l Qoo & vas
R Bl 3TaBe 35Yd Hell gl dl A gt B g7

i 3|

1.
2.
3.

g9el Tage
A Ug
3geRT fage



53.

54.

‘BrRI-gar=1’ TSIl BT UG FAGIDBIA gl SHDb Bid & -
1.
2.
3.
4.

getd 0t fofor o1 &t ey 3 -
1
2.
3.

sfierk UTodh
3RANEATRIG IUTeAT
Hferel! QRUT I
AT agdat

gl
DI
greft
A



95.

56.

S7.

Hindi Methodology Paper- Il SET -1

1
2.
3.
4

fBelt TR o ot @t SR A dieten
f5tt = @ 3ifaerr S A dcten ar o
TR B AN Bl ARRAR AASET AT JicTell
FioTel &l Tbd TT A TH Bl

HeT-bel A 19121p deat &bt Idia & ATA-ATT T2

AT E A E -

1.
2.
3.
4.

UG UTceIshd TeheITcHes BidT g il Hsrelaredl &l

ANTHITIGH 3TGHT TSI Bl g 3R BRI R AFIA BT 3d

<RI STeidT & | 98 UTeashd 3 -

1.
2.
3.

fohaTca®
fare=rdbsiega

qIUIId



58.

59.

60.

“Trelt IAEHA TH A, SN Al dleAd =g |
SITel U3d g $Ib Ud, R adid & Al ||
A I & @Rl # adafay B 33 [dvar drud § -

1.
2.
3.

(X3

FHeRar
Srferefierar
gHTITIGhdT

LAl

........ 2121 ot ag fafyr 3, o g1 fawerag

&I, Freor-faitrey @t qern Rreer-ugieal & 531 <o A
aifesa g sirar B 6 e qen Rrama ot aRRerfa=n &t
AT I ST AP | b T BT AG! 3= Uganielv |

1.
2.
3.

4.

Jaifeett

feRaR AT FeAidwe
SHTS-NoTel
Treror-fate

A TBR Pl UNeT-52E] & BB Bl 31! ddb-21th Bl
BIA H AT FidT B -

1.
2.
3.

ag s
ferdeneAs
JAAHU

i



61.

62.

63.

64.

English — Paper —I1 — Set - 1

Hari made an earth- shaking decision.

The synonym of 'earth-shaking' is:

1 valuable

2 dangerous
3. important
4

small

| finished my dinner. Then my father came.

The above sentences can be combined as:

1 As my father came in, | finished my dinner
2 After my father came, | finished my dinner
3. | finished my dinner, so my father came in
4

My father came in after | had finished my dinner

This is a beautiful story, ....................

Choose the correct question tag to complete this sentence
1 isn't this ?
2 isn't it ?
3. doesn't it ?
4

IS this ?

The cow gives milk.

The correct "Yes / No' question of this sentence is:

1 Is the cow gives milk ?

2 Does the cow gives milk ?
3. Does the cow give milk ?
4

Did the cow give milk ?



65.

66.

67.

68.

Are you studying .......... for your exams ?
Choose the grammatically correct form of the word to complete the

meaning of the above sentence.

1 Very serious
2 Serious
3. Seriously
4

Seriousness

The contracted form of 'will not' is :

1 wouldn't
2 will not ?
3. won't ?

4 II'not ?

The verb form of 'pretension’ is:

1. pretende

2. pretene

3. preten

4, pretend

If there .......... trees, there would be no life on earth

Choose the grammatically and meaningfully correct expression to
fill in the blank.

1 not were
2 was not
3. were no
4

are no



69.

70.

71.

72.

Raman passed away on November 21, 1970.

The meaning of 'passed away' is:

Choose the word that means 'the study of the cultures of the past'.

1
2
3.
4

1
2
3.
4

death
killed
was killed
died

Archaeology
Physiology
Psychology
Geology

Choose the sentence that has a defining relative clause.

1
2
3.
4

Hari, who is my friend, has won the prize.
Swathi, who is my daughter, has passed the exam.
Mohan who came from Guntur stood first.

She said that she was good at English.

‘A person who hates women' is:

1
2
3.
4

misogynist
fatalist
monogamy

ambiguous



73.

74,

75.

76.

| do not have enough clothes for my journey.

This sentence expresses:

1 capacity

2 inadequacy

3. doubt

4 possibility

He goesto .......... school regularly.

Choose the article that fits the context

1
2
3.
4

a
an
the

No article is needed

Seeing the police, the thief ran away.

This sentence is:

1
2
3.
4

a compound sentence
a conditional sentence
a simple sentence

a complex sentence

Choose the word with wrong spelling.

1
2
3.
4

precocious
moustache
straight

vulgar



[77- 79] - Read the following passage and choose the correct answers to
the questions given after

Journalists argue over functions of a newspaper. | feel that a
provincial paper's purpose is not only to present and project the news
objectively and imaginatively, but to help its readers to express themselves
more articulate their demands. A newspaper should reflect the community
it serves warts and all. When the mirror is held to society it reveals neglect,
Injustice, ignorance or complacency. It should help to eradicate them. It
would be pretentious to think that a newspaper can change the course of
world affairs — but at the local limit, it can exert influence, it can probe, it
can help get things done. The individual's voice must not be stifled. Instead,

the reader should be encouraged to express their opinions, fears, hopes and
their grievances on this platform.

77.  The following is the purpose of a newspaper.

1 To present facts in a blunt way

2 To encourage the readers to be pretentious

3. To project news objectively and imaginatively
4

To exert influences on the individuals.

78.  The readers can air their grievances:

1 by writing to their local newspaper
2 by writing to local officials

3. by supporting the local newspaper
4

by being complacent

79. Choose the false statement.

1 Newspaper should help its readers to express themselves.
2 Newspapers should reflect the community it serves.

3. Newspapers should not stifle the individual's voice.
4

Journalists never argue over the functions of a newspaper.



80.

81.

82.

83.

He is not good. He is not kind.

These two sentences can be combined as:

1
2
3.
4

He is neither good nor kind.
He is not good but kind.

He is good and kind.

He is either good or kind.

Choose the sentence that expresses ability.

1
2
3.
4

She can pass the examination.
She will pass the examination.
She may help you.

She should help you.

| had scarcely put the phone down .............. it rang again.

Choose the correct word to complete the meaning of the sentence

above.

1.
2.
3.
4.

Choose the word that can be used to write an adverbial clause of

later
than
when
then

condition:

1.
2.
3.
4.

If
As
Since

Because



84.

85.

86.

87.

88.

Choose the correct spelling of the word.

1 rejuvenate
2 rijivinate

3. rijuvenate
4

rejuvenate

‘Syllabification' means:

1 breaking a word into syllables

2 combining two syllables into one

3. removing vowel sounds from words
4

adding a consonant to every syllable

Choose the word that has the stress on the first syllable.

1 debate

2 downstairs
3. vibrate
4

electrical

The two main types of evaluation are

1 syllabus and Curriculum
2 descriptive and objective
3. deductive and inductive
4

formative and summative

Reinforcement is a skill that involves

1 revision and recognition
2 recalling and reordering
3. recapitulation
4

repetition, summarizing, probing questions, clarification and
illustration.



89.

90.

(CLT) Communicative Language Teaching believes that

1. Language learning happens best when the atmosphere is

relaxed and learner receives encouragement

2. Language learning happens when the atmosphere is rule
based
3. Language learning happens best when the teacher dominates

the class while teaching.
4, Language learning happens when reading is given top

priority.

The king who commissioned scholars to translate the English Bible

and write it in modern English is

1 King Herod
2 King Moses
3. King Joseph
4

King James



91.

92.

93.

Maths Paper-I1 — Set-1 (Hindi Medium)

J2-1
\/§+1

If 2 =1.4142 then the value of is equal to

_ J2-1
3PR 2 =1.4142 ¥ & /ﬁ+1mma@%%

1 5.8232
2 2.4142
3. 0.4142
4 0.1718

The two digit number which is square number and also cube number
IS

Sl 3! drell FSAT oIt aof Jxr oft 3R uer JzAm ot B -
1 81

2 64

3. 49

4 27

In BA x B3 = 57A, BA, B3 are two digit numbers and 57A is a 3

digit number then the value of A+ B

BA x B3=57A &, BA, B3 & 3i®! darell HHA0, 31 57A
diel 31l dTelt JJAT 3 dl A+ B &I AcT 3 -

1. 2
2. 5
3. 6
4. 7



94,

95.

If cost price of 6 articles is equal to selling price of 4 articles then the

percentage of gain is

6 a3l & TGS BT a1, 4 TGN & AT & A A
TAT gI, dt e BT UfeIeld 3 -

1 12%%
2 25%
3. 50%
4 T5%

In what time Rs. 800 amount to Rs. 882 at 5% per annum

compounded annually is

800 TUA DI 5% TH Jheg (Th ATA &) =S & FIa@ J Fat

882 TUY Jelel & foIU 9Tet aTeTT AT § -
1. 29d@@
2. 1! 3@
2
3. 13T
4, Llam



If the 2" term of an A.P is 13 and 5" term is 25 then its 7" term is

3T gzrem (AP) A gRT Ug 13 31R UTddl ug 25 § at

3T 4T A Alaal ug Jg Fon -
1. 30
2. 33
3. 37
4. 38

If % is a root of the equation x*+ Kx—% = 0 then the value of K and

second root are

1. 1 and 2
4
2. —2 and 5
2
3. 2 and -
2
4. 1 and 2
2

x2+Kx—%:03ﬁﬂ?ﬂWEﬁrW3§§f%§?ﬁKEﬁra@
3T AR T HAA A ol -

1 s o,
2 2 3R>

2
3 2 3 2



98.

99.

If § + % = -1 (X, y # 0) then the value of x*-y® is
§ " % = —1(x,y#0) @l x*—y® B oA § -
1 1
2 -1
3. 0
4 1
2

Let A = {x | x is a multiple of 3 lies between 1 and 100}
B = {x | x in a prime number less than 20}

Then n(A) + n(B) is

A={x|x 3,131R100 & dT & 3 & IUIeT} 3R

B={x|x 8,20 d& & UeiH} g dl,

n(A) +n(B) BT e § -

1 33

2 38

3. 40

4 41



100.

101.

102.

If Set ‘A’ has 64 subsets, then number of elements in Set ‘A’

3pR AfANT A’ 64 IuAtHta= aren wfafa 3 ot afafa

‘A’ H HETDI DI AFAT g -
1. 4

2. 6

3. 8

4. 32

The length of the diagonals of rhombus are 16cm and 12cm. Then

the length of the side of the rhombus is (in cm.)

3PR AFTGHST (ITATA) F HUit Bt FaTS 16 A.F 3T
12 A7 F A, IaA & o B carg (A.F. A) Reaen
giom ?

1 8
2 9
3. 10
4 20
AABC —~ AEDF and AABC is not similar to ADEF which of the

following is not true.

3PR AABC ~ AEDF 31T AABC &T AR™Y ADEF g1 & ot

forg & @g 7 sl & -

1 BC.EF = AC.FD
2 AB.EF = AC.DE
3. BC.DE = AB.EF
4 BC.DE = AB.FD



103.

104.

It is known that if x +y =10 then x +y +z = 10+z. The Euclid’s

axiom that illustrates the statement is ...

1 First Axiom

2 Second Axiom

3. Third Axiom

4 Fourth Axiom

3R x+y=108 A x+y+2=10+ g | Ig Taael J[oe1s
& Fpdl A A B Fdtta g ?

1. Ugc ikd
2. @RI Fipd
3. dRWI Hea
4. Tt Hgd

The Points A(9, 0) B(9, 6) C(—9, 6) and D(—9, 0) are the vertices of

1 Square

2 Rectangle
3. Rhombus
4

Trapezium

A9, 0) B(9, 6) C(-9, 6) 3Tk D(-9, 0) faig3il & =l aret fa=
3 -

1. deR

2.  3MIABR

3.  AFEgYe

4.  AACT TGS



105.

106.

If line segment @ intersects Y-axis and X-axis at P and Q

respectively. The mid point of @ Is (2, —5) then the co-ordinates
of P and Q are respectively.

1 (0, =5) and (2, 0)

2 (2,0) and (0, =5)

3. (0, 4) and (—10, 0)

4 (0, —10) and (4, 0)

PQ IJTHIE Y-3187 (axis) 3R X-31afl &I P 37% Q fagaii
TR P IFI g | PQ &1 Ay f9g (2, -5) al P 3R Q
fagatt & fermus waen: 3 gl -

1. (0,-5) 3R (2,0)

2 (2, 0) 37T (0, —5)

3. (0,4) 3R (-10,0)

4 (0, —10) 37T (4, 0)

If x>0 andy < 0 then the point (—x, y) is lies in quadrant is

1. Quadrant-1I
2. Quadrant-11
3. Quadrant-III
4, Quadrant-1VvV

x>0 3R y<0 g a (—x y) [dg g5 urg # gom -

1.  Ugdl U
2. GIIUR
3. dRRIUR
4. AT UG



107.

108.

The formula to find the lateral surface area of cylinder is

1
2
3.
4

21 rh sg. units
21 r (h+r) sg. units
m r?h sq. units

1 rl sg. units

Rrcis: (32qu) & da &1 g% ure & fou J7 3 -

1
2
3.
4

2m rh sg. units
2t r (h+r) sg. units
1 r’h sg. units

1t rl sg. units

The length of the longest pole that can be placed in a room of

dimensions 10m x 10m % 5m is in metres.

10m x 10m x 5m 3B & P A &H Sdd eI & 3D
¢idTS &I FAT TH Adhd 3 |

1
2
3.
4

10
15
20
25



109. The base of right angled triangle is 8cm and hypotenuse 17cm then

110.

its area is in sg. cms.

ciamior Brafet @1 off 8 A0, 30 wof 17 A.#. @ & H®T
2Thel 9. 3., A sde o -

1
2
3.
4

60
68
120
136

The mean of five numbers is 30, if one number is excluded, their

mean becomes 28 then the excluded number is

ara AI3H B AT (mean) 30 § , ITA A TP FaAT
gorel Uz gl A3 T 3T 28 § ol gerll IR IS -

1
2
3.
4

28
30
35
38



111.

112.

The median of a frequency distribution is found graphically with the

help of

1 Histogram

2 Frequency Curve
3. Frequency Polygon
4 Ogive Curve

3Mgfa fae1sTe & ALPE &t 37 31| s A ur JAwd 3§ -

1.

L

AUt 33T 7= [ 3md /e
3gr b

31gie AGYS
3nfsia as

A bag contains 3 red balls, 5 white balls and 7 black balls then the

probability that a ball drawn at random will be neither red nor black

IS

T Aelt A 3 &1ed, 5 Abe 302 7 Blet 9ic 8 | 3A Acil A
A IeRed HU A UF I forbers U= ag atd a1 Biell

o gl P FHTAT B -
1 1
5
5o 1
3
3 2
3
. L
15



113.

114.

1

If tan (A +B) = 3 and tan (A — B) = (A, B are acute) then

J3
the value of tan 3A
1 0
2 1
3. -1
4 Not defined
3PR tan (A + B) = /3 3fT tan (A — B) = % (A, B 37cT <pIT)
gl tan 3A BT I g -
1. 0
2. 1
3. -1
4. gt =18 3 |

A pole stands vertically on the ground. 20 m. long rope tied from
top of vertical pole to a nail at a point on the ground. If the angle
made by the rope with ground level is 30° then the height of the pole
in mts. is

STl UT Uh TAT Alem J1sT foharm o 3 | 33 HW3L diat
3 20 Her ot Th afeht o R | T B @ B B PO
T #A I gu, Uh Bt A ary & o | 3pR ag =i
Srafter & 30° 3 0T A 3 A T % S (e ) B -

1. 20

2. 10

3. 1043
s 20

3



Paper-11 Set-1 Maths Methodology

115. The author of the book “Data”

1 Pythagoras
2 Euclid

3. Thales
4

Archimedes

SICT 3 & TASTBIR

1. UnpRA
2.  YfaeTs

3. A

4. snfbarza

116. The academic standard relating to present Mathematics textbooks

1 Understanding
2 Application

3. Communication
4 Skill

TRgd It UTe gl & e Aférps Ames B -

1. 3[@a

2. URANIcHBAT
3. TIh Bl
4. PioTA



117. Limitation in Analytic Method

1 Long Procedure

2 Logical Method

3. Develops Heuristic attitude
4

Clarity in conceptual understanding

faeetyor fafer &f aR=fen 3 -
1. Jgard fafa

2. Gyl fafy
3. lote B 3ifdEta geren
4. a9 & 3maarg & FgEan

118. The software that doesn’t useful to Mathematics teaching and

learning

1 Geogebra

2 Equation Grapher
3. Mathcad
4

Chemdraw

orfoTa fRreror 3ifERTH & TeTv oIg ATUed? U =6l o -

1. foEnshan

2. Sad9E ATHT
3. HJ BIs

4,  BHA I



119. The question form that does not belong to objective type

1 Multiple choice
2 Essay type

3. Matching
4

Alternative responses

faaiferss ueat & o5 =11 B -
1. TS ued

2 ferager woa

3 GlS! Ielrel

4. dpfeus afafead

120. The plan that is not an internal part of instructional planning

1 Curriculum
2 Annual plan
3. Unit plan
4

Lesson plan

3TEATYS | dYer onent H Ag siafeiiga =gl 3 -

1. forem vomet
2.  drfes SoTTedt
3. Sl YUlell
4. TS YoTTel

FRE BIANS TR0 - D6 -2 - e - 1



121. The role of aeration in "waste water treatment plant" is to

1 change the odour

2 kill the germs

3. filter the waste material
4

: break down the waste material faster
ot oTer B e B Bl A “TRUL B T S -
1. g & uRade Hen
2. S P T Bl
3. AT Bl Betell
4. AT P doht A A=A

122. Solar eclipse occurs when

Shadow of moon falls on earth
Shadow of sun falls on earth

Shadow of moon falls on sun

A W o

Shadow of sun falls on moon



123.

124.

If the incident ray makes an angle of 37° with the plane mirror, then

the angle of reflection is

Ush Uddl {201 AHAde & gUuT & ATl 37° BIUT Iell BT
3| TP WIade BT BT HeT g -

1.

2
3.
4

37°
53°
127°
0°

A magician during a show has placed a glass lens of refractive index

1.47 in a trough of liquid and made it to disappear. The refractive

index of the liquid is

1
2
3.
4

Equal to 1.47
More than 1.47
Less than 1.47
0

U PR o 31Uet ygefd # 1.47 31Uads JaHid Jb UH
®Td & Bed Bl Uh gd A 83 <@ A IF B 3A INd fpa

&d BT 3UAdD JABIB BT A 3 -

1.

2.

3.
4.

1.47 A JHATS
1.47 3 3186

1.47 A BHA
0



125.

126.

Special design of aeroplane is to

1 Reduce static friction

2 Increase static friction
3. Reduce fluid friction
4

: Increase fluid friction
gaTs Siglsil & I 3mpfa & R
1. Xifaew ador A gom
2. Afge adur 31t gon
3.  argt auur HH gom
4. vargl guvr 3ifées gon

Which of the following is a natural magnet.

1 Electromagnet
2 Alnico magnet
3. Load stone magnet
4

Neodymium magnet

forg & & A1get gawb 3 -
1. Electro gadb
2. Alnico g

3.  Load stone gdab
4. Neodymium gah



127.

128.

Dry hydrogen chloride gas is not an acid due to lack of

1
2
3.
4

Neutrons
Hydrogens
Hydrogen ions

Hydroxyl ions

IHT gTSZIoTel delivs dry, 379 g1 gl i IAH -

1.

2.

3.

4.

g =gl Bl
g3 =gl g
BgioTel 31T =1g1 3
BRI 31ITeH <Tgl &

The incorrect statement regarding the reactivity of metals is

1
2
3.
4

Copper is unable to displace zinc from zinc sulphate
Copper is unable to displace iron from iron sulphate
Iron is unable to displace zinc from zinc sulphate

Zinc is unable to displace copper from copper sulphate

egait di Afdafpaneliciar 3 Jdfia Jg s Sidb oIgl 3 -

1.

2.

3.

Pz, [Sip Bl Sip Acthe A FWATTHA g1 B=dll
PIUT, 3MTSIT Bl TSI Ache A TWLATAUT g1 pdTl
31se, fSics 3l, [Sip Acthe A TATTHA g1 PHdrl
fSip, PTUR Bl BIUR Acthe A FWATAHA Tg! Bl



129. The reaction in which a solid gets separated from the solution is

1 Neutralization reaction
2 Sublimation reaction

3. Precipitation reaction
4

Redox reaction

2o A gef Rafg & uer! & 3101 B3 arelt ufatesar
1.  dezRitsmRur ufdfen

2.  3cude ufafsen

3.  3m@au ufafean

4. e ufateen

130. Which of the following sets of quantum numbers are not possible?

foreet & A A wien FTAT0 Jda &G B -

1 =1, 1=1, m=0, m=+%

2 =1, 1=0, m=0, m=+%

3. n=21=1 m=1 m=+%

4 n=21=1, m=0, m=+1%



131.

132.

The incorrect pair among the following is

1 chalcogen - sulphur

2 halogen — chlorine

3. noble gas - oxygen

4 alkali metal — sodium
forea1 # A oT7a NSt B -

1. dicplole - ATH

2.  glcAlole - deliie

3.  oidel 9 - RIS
4. &R u1g - Afsasq

The one and only method available to extract highly reactive metals

from their ores is

1 auto reduction
2 smelting

3. liquation

4 electrolysis

31t ufafceenelial FeTdl Bl 3e1db argsti A Ul BT THATA
fafer 3 -

1. T 21hI0T
2. WOTAA

3. Iletd

4. fagga faeciwor



133.

134.

Biology Paper—-2 -SET -1

A carrier woman for colour blindness marries a normal man. Their

children will be...

1. 50% girls are colour blind, All boys normal
2. 50% girls are carriers, 50% boys colour blind
3. All girls are normal, All boys colour blind

4. 50% girls, 50% boys colour blind

U quilerdl aigedh it U AR GHY A farg &2a ur,
1. 50% cIsfpal quiier 3T A clses ATEMROT

2. 50% cI=RBAT a1gd 31T 50% =% qurier

3. Wt TPl ATeRYT 31k Ja csd qure

4. 50% ciefBT 3R 50% ISP quIler

The organisms with hollow bones

1 Fishes

2 Frogs

3. Birds

4 Reptiles

STt sk ame sia
1. #FofeEr

2. Hed

3. uafl



135.

136.

Identify the pair of plants with complete flower

1. Ipomea and Cucumber

2. Datura and Cucumber

3. Cucumber and Hibiscus

4, Hibiscus and Ipomea

oo & 3 Syl gool arelt S ugafe|
1. BUIHAT & Hed, Hhst & el

2. TR P Hd, HhS! & B

3. ®®sl & Hd, JSgcl b A

4.  JISgA & G, FUNAAT & el

Pick out the disease caused by Bacteria

1
2
3.
4

Mumps
Malaria
Tuberculosis

polio

foreat A A Siamy) (deeifRan) & R 3MedTelt AR

1.

2.

3.

HSHTAT Bl AL
HFaARan
3T 3T
uiferen



137.

138.

Pick out non secondary sexual character from the following

1 The organs to identify boys and girls

2 Growth of hair on chest

3. Growth of hair at the genital organs

4 Growth of breasts in Girls

forea1 # A gl oo @gior oIg =181 § -
1. i Ud gSY Pl Ugdre & 3T

2. Bl TR AA gl

3.  OfeTelion & URA A IS SiTell

4.  cISihal & Il A dgIast

In humans the equilibrium of the body is maintained by

1
2
3.
4

Hands
Vestibular apparatus
Cochlea

Organ of Corti

HIEd R & JAAGT Rafd & =B sa aren ferafor

1.

2.

3.

gl
dRTYeR AT
PUTTdclel

PITE 3701



139. The worker bee in the honey comb is

1 Fertile Male
2 Sterile Male
3. Fertile Female
4

Sterile Female
91ES HHl A AP AY TS
1. 3USS &R AY AFE
2.  deF R AY FHISA
3. UGS HIGT Y AT
4.  GeF HAGT AY AT

140. The low light intensity area in a fresh water lake is

1. Littoral zone

2. Euphotic zone
3. Profundal zone
4,

Limnetic zone

G UTell & e A B TBIQT AT Hid
1.  folceRa sa
2.  ghiicd Sie
3.  Hithsdl Siiel

4. fofes sa



141.

The correct sequence in the formation of urine.

1.

Tubular re-absorption — Glomerular filtration — Tubular
secretion — Hypertonic Urine.

Tubular re-absorption — Tubular secretion — Glomerular
filtration — Hypertonic Urine.

Glomerular filtration — Tubular re-absorption — Tubular
secretion — Hypertonic Urine.

Glomerular filtration — Tubular secretion — Tubular
re-absorption — Hypertonic Urine.

S IS B HHA B TG 3THA Bl UFANeT -

1.

ATCAIGTR GeI: 372NN — HirehT B fertieger —
AR S —> el I{HA

ATAIGR GeT: 3TaeNuul —> SATelaR Fd —> DI
o fordes — meT I

BT IS forrtce — AEIRR Ya: 3/@eiuor —
ATCIGR 3T — ISl 3

BIRPT B fertea — alefler Ja —
ATAIGTR GeT: 37aeNuur —> ST 3



142. The circular DNA is present in

A) Bacteria B) Mitochondria
C) Golgi D) Plastids

1. A only

2. Aand B

3. A, Band D
4, A, BandC

SAHA IMATBIR DNA el 379 g

A) Sitarg B) HAclmitga
C) Infest D) wR<esA
1.  Pad A

2. A3iTB

3. AB3IRD

4. AB3IRC

143. The method used to detect cancer is

1 ECG

2 MRI

3. ELISA
4 BIOPSY

AR (b A1) BT UaT omet & fere Suger [ty
ECG

MRI
ELISA

IR

L e

144. Generally the embryosac in flowering plants have



1 6 cells and 6 nuclei
2 6 cells and 7 nuclei
3. 7 cells and 7 nuclei
4

7 cells and 8 nuclei
ATEROT AR U= Gl aret arell & fUsdpier #
1. 6 0T 3IR 6 Pheh aid ol
2. 6 PUl 3R 7 Pbeb gid 3l
3. 7 Ul 3R 7 Phed gid 3l
4. 7 P 3T 8 Pegb aId ol



R EeR - w6 -2 -8 - 1

145.  One of the following is referred to empirical knowledge

1 Concepts
2 Principles
3. Theories
4

Facts

foreet A A U 31T S e A Ade IFAATE Ig 3

1. Eeu
2. ferH
3. Tigeia
4, a=

146. The more concrete experience than a demonstration is

1 Radio recording
2 Television

3. Study tours
4

Motionless films

fora A A, “ugela A 3t ayd e A B -
1. 3= Retda

2. gk

3. 31eeel AEe

4. I 2ga g faeae ks



147.

148.

One of the following is a self observation technique

1 Rating scales

2 Interviews

3. Check lists

4 Records

foea1 # A TP FAaciica BT ATE 3§
1. 3 bost

2. HI_ITchIZ

3. Od feRes

4. 3t

Study of Biological Sciences develop knowledge and curiosity and

stimulates search for truth. The value inculcated through this is

1
2
3.
4

Intellectual value
Moral value
Aesthetic value

Cultural value

ST & 118101 & gRT s 3R fSTsar dedbe
AT URd FidT gl $ADb GRI 3cTa ;I § -



149. One of the following is not the purpose of lesson plan

1 Teaching proceeds in systematic manner
2 Time is not wasted

3. Enhances self confidence of teacher

4

Teaching proceeds haphazardly

foreet A A Ig UGy WUTell BT 3539 ! o-
1. 3ieAgel &l U A At A g
2. WA BT gSUAWT =gl Gl

3.  37eAUH A INHATNRT dce|

4. 31EYIYe TARRIT Jeel

150. Development of behavioural competencies through a group of

experiences is

1 Core curriculum

2 Annual plan

3. Lesson plan

4 Unit plan

AR G2IAI3Tl P JaTel dlel adl Bl AHSH gl
1. ¢l UIed JUlleil

2.  aIftfes goTedt

3.  UTH HuTlelt

4.  SBIS YoMl



